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» =0.01 mol * L™ V,=3V,/2  V Vi H,SO0,
=9V,:3V,/2=6:1, Co ( ) o
25C pH=a 10 A.1.0 mol » L' 20 mL
pH=0b 1 B.0.5 mol * L™" 40 mL
pH pH C.0.5 mol * L™" 80 mL
. O 20 40 VmL
( ) o D.1.0 mol * L™ 80 mL
Aa+b=14 B.a+b=13 2
C.a+b=15 D.a+b=7 H,S0, pH=0 c¢c(H") =1.0 mol *
n(H") =107 x 10 mol L™ ¢(H,S0,) =0.5mol * L™'.  pH=7
n(OH™) =107"/10"" x1 =10 """ mol V( NaOH) =40 mL n(H) =n( OH")
n(H") =n(OH") 107" x :1.0mol * L' xV =1.0 mol + L' x
10 =10""*" a+b=15. C. 40 mlL V =40 mL.
1.0 mol « ™" NaOH 40 mL +40 mL =80 mL.
H,SO0, pH C,
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A : NH,CI + Ca( OH) , ===CaCl, +
INH, 1 +2H,0;
A
B NH, * H,O===NH, 1 +H,0.
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